£ === ¢ ==
iﬂ] 1= P = |58  3ET
g &k H: 0000 & 00 A 00 H
% KX £ # H T ) =
& # g 000OH*LH
[ERESEAH AEBEINE~—Tn ||Z 8 F 2| T0000000000000
1R—SEEBYET * Al T 000-0000
L OOROOHOOKOO00-00-0000 IV
EREFEAS ¥ 46, 560- (Bi5A) E % %= 00-0000-0000
T E# 4 | 4H0E OOOOTH B T FEvEE Y E
® B |mreEs
I ® A | OOROOHOOROO
& % |HI KEB
I SEEREN S, [9E) LN ERIEER
B A 1 | B B B & %
1/1 |00 D 1 & 1,000
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AA 1 cn 1,000 1,000
00 1 kg 1,000 1,000
00 X% 140 1,000 1,000
AA X% 1 cm 1,000 1,000
00 X% 1 kg 1,000 1,000
00 JE 140 1,000 1,000
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